
This page was exported from - Braindump2go Free Exam Dumps with PDF and VCE Collection 
Export date: Sat May 4 2:41:38 2024 / +0000  GMT

[2017 NewsHigh Quality Braindump2go 200-155 PDF 98Q Free Share[21-30

	2017 July CISCO 200-155 Exam Dumps with PDF and VCE New Updated in www.Braindump2go.com  Today!100% Real Exam

Questions! 100% Exam Pass Guaranteed! 1.|2017 New 200-155 Exam Dumps (PDF & VCE) 98Q&As Download:

https://www.braindump2go.com/200-155.html 2.|2017 New 200-155 Exam Questions & Answers Download:

https://drive.google.com/drive/folders/0B75b5xYLjSSNSGNZNWlETXdSNHM?usp=sharing   QUESTION 21What are two

advantages to running Fabric Path in the data center over using Spanning Tree? (Choose two.) A.    provides multi chassis Ether

Channel capabilitiesB.    allows every switch to send BPDUs to each other to ensure the L2 topology is synchronizedC.    has L2

multipath forwarding capacitiesD.    uses B02 1 q trunks to ensure VLANs are propagated through the topologyE.    uses TTL field

to provide loop mitigation Answer: CE QUESTION 22In an ACf Fabric, which two statements about contexts are true? (Choose

two.) A.    A VRF defines a Layer 3 address domainB.    A tenant can contain multiple VRFsC.    In traditional networking, a VRF is

equivalent to a VDCD.    A tenant can contain only a single VRF.E.    A VRF defines a Layer 2 address domain. Answer: AB

QUESTION 23An engineer wants to restore a Cisco Nexus 1 000v switch to factory default settings Which two commands

accomplish this action? (Choose bra.) A.    write erase running-configB.    rebootC.    write erase bootD.    reloadE.    copy

running-config startup-config Answer: CD QUESTION 24A user is trying to create a new VDC in NX-OS in global configurations

mode, but receives an error message What issue prevents the user from creating Virtual Device Contexts? A.    VDCs cannot be

created in global configuration mode.B.    The user is not a vdc-admin.C.    The user is not a member of the VDC Power Admin

group.D.    The user is not a network-admin. Answer: D QUESTION 25Which two devices are supported for connecting a server to

the Cisco UCS 6248 Fabric Interconnect? (Choose two.) A.    Cisco UCS 5108B.    Cisco Nexus 5548PC.    Cisco Nexus 2248TPD.  

 Cisco UCS 2208XPE.    Cisco Nexus 2232PP Answer: AD QUESTION 26An engineer the UCS Fabric interconnects for network

connectivity to the data center LAN and SAN. Which two ports types need to be configured to allow traffic to Bow properly?

(Choose two) A.    Ethernet uplinkB.    server uplinkC.    applianceD.    Fibre Channel uplinkE.    Fibre Channel storage Answer: AD

QUESTION 27Which two options are primary elements of a tenant? (Choose two ) A.    firewall rulesB.    contractsC.    EPGD.   

access policiesE.    switch domains Answer: BC QUESTION 28How many VRFs are present in Cisco Nexus OS by default? A.    0

B.    1C.    2D.    4 Answer: C QUESTION 29Which option is a benefit of Unified Fabric Delivery to an IT organization? A.    lower

total cost of ownershipB.    reduced memory requirementsC.    increased storage capacityD.    improved security Answer: A

QUESTION 30Drag and Drop QuestionDrag the Network virtualization technology on the left to the correct definition on the right.  

 Answer:  
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